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• Files: 

/castor/cern.ch/user/a/agupta/zeemm/*
– (i.e. DC1 simulation, with 8.4.0 reconstruction)

• Selected good electrons
– if(nt.eg_IsEM[i] == 0 && nt.eg_trkmatchnt_X[i] >0 )
– 0.7< E/p < 1.3
– Required 2 oppositely charged electrons

• Mass of electron pair 71.0 < Mee < 111.0 GeV
• Gives about 800 events to use to study jet 

balancing
• Use (η,φη,φη,φη,φ) match to identify the jets which 

contain the electrons
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Pt(Z)
Pt(Leading Jet)
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Even after subtracting 
2 for the electrons, 

this is a large number 
of candidate jet 

clusters

The closest jet is 
controlled by 

parameters in the jet 
algorithm (cone of 0.7)
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4-Vector from:

nt.eg_et

nt.eg_eta

nt.eg_phi
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At Generator Level 
Pt(Z) > 100 GeV
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Electrons from Z 
decay are removed 

using match in eta,phi
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: ��� � ����$��

∆φ∆φ∆φ∆φ(jet,Z)
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Etmiss for well 
reconstructed 

Z�e+ e-

The top mass analysis 
reported this year 

assumes that one can 
cut at Etmiss >20GeV
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